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#include <stdarg.h>
¢ 1. 791X} MA : va_list argp;
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(vararg.c)

#include <stdio.h>
#include <stdarg.h>
double avg(int count, ...);
int main(void) {

printf("& o %.2f#n", avg(5, 1.2, 2.1, 3.6, 4.3, 5.8));

return O;

}

double avg(int numagrs, ...) {
va_list argp;

va_start(argp, numagrs);

double total = 0; //€f0| X Z&E H

for (inti = 0; i < numagrs; i++)
total += va_arg(argp, double);

va_end(argp);

return total / numagrs;
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(pointerparam.c)
#define CRT _SECURE_NO_WARNINGS [Z1H
#include <stdio.h> 5 83 Y4
/
void add(int *, int, int); = M43 1
int main(void) {
iINntm =0,n=0, sum = 0O;
printf("F& = = "),
scanf("%d %d", &m, &n);
add( &sum, m, n );
rintf(" & A= 2 %dWn", sum);
e 0 sS4z paol FAS LD
\ ot ZIHS B0 2

void add( int *psum, int a, int b) {
*psum = a + b;

}
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(ptrreturn.c)

#define _CRT_SECURE_NO_WARNINGS

#include <stdio.h> 27
int * add( int *psum, int a, int b) { [,:EJ,E_l]A olai. 3
*psum = a + b; return psum; ;'_ T =B
? . o = Bz Bt 10
int * subtract( int *pdiff, int a, int b) { o Xt A
*pdiff = a - b; return pdiff; = o m é1
? o oFAE SR LA
int * multiply(int a, int b) {
int mult = a * b, return &mult; "Fozr0] 571 =A= o= drargto
} LE returnot™ @ =5t= ZO|A Hi=
int main(void) { S MASIX| L0 HIE AR IS
intm=0,n=0,sum =0, diff =0
printf("F = 8= "), scanf(' %d %d", &m, &n);
printf("5 = 2 %dWn", *add(&sum, m, n));
printf("F E= X} %dwn", *subtract(&diff, m, n));

n= XA 1.

printf("= 85 & %dWn", *multiply(m, n));
return O;
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const double *a
double const *a
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(constreference.c) E=iny
#define _CRT_SECURE_NO_WARNINGS T 27 g=:1534
#include <stdio.h> F A & 5.1 O LIS 0.44
AL = &= A== 250, 440
void multiply(double *result, const double *a, const double *b) {
*result = *a * *b; [a, b O] AFxZte -
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}
void devideandincrement(double *result, double *a, double *b) {
*result = *a / *b;
++*a;
(by++; (A% a b7k F2l7lE e 1M B |

}
int main(void) {
double m =0, n =0, mult =0, dev = 0;
printf("F& &=+ & E—". ") scanf("%If %If", &m, &n);
multiply( &mult, &m, &n);
devideandincrement( &dev, &m, &n );
printf(" 5 ’é'—“F = %.2f L= %.2f%n", mult, dev);
printf("& 4t = £ A %.2f %.2fWn", m, n);
return O;




#include <stdio.h>
struct complex {

double real; //&2 = e (
double img; //51—15[%‘/'5_'_ A ]

b
typedef struct complex complex;
void printcomplex(complex com) {

printf("=2==(a + bi) = %5.1f + %5.1fi Wn", com.real, com.img);

}

complex paircomplex1(complex com) {
com.img = -com.img;
return com;

}

void paircomplex2(complex *com) { com->img = -com->img; }

int main(void) {
complex comp = {34, 4.8}, pcomp;
printcomplex(comp);
pcomp = paircomplex1(comp);
printcomplex(pcomp);
paircomplex2(&pcomp);
printcomplex(pcomp);
return 0,

g0l =4 MEa} ghat

complexnumber.c)

[4 1]

EA@+bi)= 34+ 438i
EA@+bi)= 34+ -48
EA@+bi)= 34+ 438i
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& &l EO9IE{(pointer to function)
o go| FAUS NESl= EQCIE Hy
e HigHH, CIXI=E=0| 2X|5l= e F=AE XMEE = QUS.
¢ gl EOIE M uiH
o EIrAHHNAM e0|E= HMelst vietd i OIX|=Re| HEI| ER
void add( double *, double double);
void (*pf1) ( double xz, double x, double y) ;
o Bt XEQ2IE| MA Al0jI= ““=AI ~ £ 2Hf| 20|11 S E ALZ6l 0}
?:nl'- ('T'él'i tugn_:l %n'l' -'l;?:! |_ I E”)

& Bl EOIE{O) 7t CHY

e pfl = add; (0)
e pfl = &add; (0)
e pfl=add(); (X : et= S&0| EY)



#define _CRT_SECURE_NO WARNINGS BT ==i=%1 =T MO
#include <stdio.h> (funptr.c)
void add(double *z, double x, double y) { *z = x + vy; }
void subtract(double *z, double x, double y) { *z = x - y; }
int main(void) {
void(*pf)(double*, double, double) = NULL;
double m, n, result = 0;
printf("+, -5 ST A% 2745 YHSH Q. >> )
scanf("%lf %lf", &m, &n);
pf = add; pf(&result m, n);
printf("pf = %p, &7 add() T2= %pWn", pf, add);
printf("EISt7| =3l: %If + %If == %IfWN¥N", M, n, result);
pf = subtract; pf(&result m, n);
printf("pf = %p, &= subtract() 2= %p¥n", pf, subtract);
printf(" W{7| =H: %If - %If == %IfHNWN", m, n, result);

retu z
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1
= 00007FF6991913AC, %= add() T2 = 00007FF6991913AC
6}7| s=%8: 5.300000 + 1.100000 == 6.400000

inkeiy

pf = 00007FF6991913BB, &= subtract() T=2~= 00007FF6991913BB
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(fptrary.c)

#define CRT_SECURE_NO _WARNINGS
#include <stdio.h>
void add(double *z, double x, double y) { *z = x + vy; }
void subtract(double *z, double x, double y) { *z = x - y; }
void multiply(double *z, double x, double y) { *z = x * y; }
void devide(double *z, double x, doubley) {*z =x/vy; }
int main(void) {
char op[4] = { '+, '-", ™", '/}
void(*fpary[4])(double*, double, doub

e)

{ add, subtract, multiply, devide };

)
ook
> |1
Hl
o
m
r>-

[
Ot
2

double m, n, result;
printf("AFAIALALS =T A= 270 F YESIMR. >> ),
scanf("%lf %lf", &m, &n);

for(inti =0;1<4;i++){
fpary[il(&result, m, n); [

printf("%.2If %c %.2If == %.2If#n", m, oplil, n, result);

} [Z 1]

return 0; APR AL S =l = 270 & YA R, >> 34 1.1
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(voidptr.c)
#include <stdio.h>

void myprint(void) { printf("void Z QIE{, A 7|5t 21%n"); }

int main(void) { (void ZOIE{ 0= (&4 Zsh) OfH EFQO| F
intm = 10; =X ME 7ts N N
le d = 3.98 o EtRO| Slenz &It ohEl EESH
‘Vj;’,‘;bgd_ &‘:’n%' _ShAM= void7} OFcl EfQlo 2 o istsfof o
printf("p & = %dWn", *(int *)p);
p = &d;
printf("p EX == %.2fWn", *(double *)p);
p = myprint;
printf("p &= & A "),
((void(*)(void)) p)O;[ &= ZAE QI void(*)(void) 2 #2510l ==
[Z 2]
return O; o AZE =10
) p &X H4:3.98
b EE B4 A% - void EOIE, A7|SHH Q!




